EARAROBREBRT —5 XN—ZXBISH—F

20224688278 (£) 2@4LIE5H

U SR2% B (CES) Sk ‘(fﬁl £ ‘[%EH?’;F&] - | & 17000 B
[AE%) 1 % :7,000,000  ~ 23&:2,800,000 "  337%:1,800,000H . 43#&:1,100,000  ~ 5 & :700,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
° _ o2 | B 1:45.7 4-3-2-1 [36.9|84.8 | 2 | 474 |BER— EH)
1 6 | NUI—IL 54.0 ) (—) |EBIIEE
RiNZ—ka1—RX B:YIRSAL FrIEFIRT7—L
= # 2 | C.obX=lb 1:46.3 2-2-1-2 | 37.6| 78.6 | 1 502 | BEEN (E&R)
7 31T 494 54.0 G 1/2) (o) |BEFEAR—LT VTR (#)
R:iJustify B:IRvY #HEBT7—L
° © FIA#R : -5-4- PEE= (BH
3lsls | EvF—TIo N 4 2 BrieR 1'&7)'3 6-5-4-3 | 38.4] 69.9 | 4 2114) = (=H)
RIRIVIARTAwIIFUT— B:T7ARIVT 75 Rigig
2 | WEAR 1:47.8 6-6-5-4 | 38.5| 65.6 | 6 484 | FEE (35H)
4177|778 # 54.0 2172 (o) | @) Too1vL—yv7
RIUFPIRAT 4= B:7F—0 B %t
3 —— % 2 | HE 1:48.0 5-6-6-5 |38.3| 63.7 | 5 a8 | EE (RR)
Eﬂ 41 ¥a1= 54.0 (1 1/2) (=) %) 1>EILL—yo
RINAVRIAPERTwY B:FHU—F J=YYT7—L
S H st 2 | Sellig— 1:51.4 1-1-2-5 | 42.7 | 43.1 | 7 530 | BREt (GER)
611119 51.0 (5o 1) ) | @) o—Fr—2057
RE-UR B:F—FEa7 TATAT7—LA
~ e~ BLURE : -3-7- DOEEESL (355
7 ) | 7oFPUEYD 32 B 1.(542).1 2-3-7-7 |42.1]36.9 | 3 (533) EEE;%EE (=H)
RRAVRIATERT Y #:HFyN—<AY HBIT7—L
[ BN
En'y 49.6-37.0
NOYFAL | 6.9-11.0-12.1-12.9-13.2-12.6-12.3-12.0-12.7
@ 11— —BRIEI
13—7F— 1(2,3)6-4-(7,5)
20— — 1,3(2,6)5(4,7)
Ia=5r= (1,#3,6)5-7-4-2
40—F— (3,%6) -5-7-(1,4)=2
0 ILRE
BB 6 530 JA R 3-6 170 B E 3-6 390M 3EE 3-5-6 690
B B 6 170H 5-6 300 o= 6-3 1,150 3Es 6-3-5 4,140
3 110/ 3-5 1809

ABIC OV TRUTEREERRODDZE. THRIIZEL.



